
 

 

Would You Rather Math- Open Ended Math Discussions 

Visit https://www.wouldyourathermath.com/category/3to5/ and complete one task. Be 
sure to record your thinking and justify your answer. See the example below. 

 

See the following example: 

 

My Justification: 

 I would choose option A. First of all, in both cases, you would get 

the same amount of marshmallows. Option A there are 3 marshmallows 

per pack x 8 packages= 24 marshmallows. Option B there are 8 

marshmallows per package x 3 packages= 24 marshmallows. I would 

choose option A because the marshmallows are larger and therefore 

you would get more marshmallow.  
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